HW 3.3(b) Key

L. [ et X be a discrete random variable such that E[X] =5.9 and Var [X] =4.8.Let Y=5X+8.Find
E[Y2] .
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2. Let X be a discrete random variable such that E[X] =3.7; E[X3:| =51.5,and Var [X] =1.4 . Find
E[(x-1)"].
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3 Let X be a discrete random variable, and let Z = 3X +12..1f E[Z]=96 and Var[Z]=54.find E[ X ].
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4. Let X be a discrete random variable. Let ¥ =6X +20 and Z =5X2 +2X +13. Given that E[Y] =206
and E[Z]=4940, find Var[X].
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5. Let X be a discrete random variable such that Var [X ] =8235.Let Y =X?—15.3X +8. Given that
E[Y]=32.93 and E[ X ]<140,find E[X].
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